Graphing Single Variable Inequalities
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Graph each inequality.
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Graph each inequality.

=

8
A
<t
=

(")
o
..m
©

>

(on

v
=
9
e

©
-
>
=

oTo)
k=
(s

o0
=
L

Q

©

L .
G
S

o

(")

L

v

S

(")

c
<

2) 4 < «x

>

- =

- o

- o

-

- o

- =

- =

- o
- ™
L
—o
- o
- o
-

-

L @

-

- o

- o

>

I
!
1

e

- o

- o

- o

[— w2

- =

- o

- o~

- —

Q
T R T N NI

— o

- o

- @

-

-

- o

-

- o

- o

v

4) 0< «z

3) T<«z

I I
1
7

T R T N N R A
; !
& 1

| | | | | | | | |
1 1 1 1 1 1 1 1
G987 654332 -

6) 8 > «x

A\

5)

>

- =

- o

O

- o
-
- o
- =
- =
|- o
|- o
- —
o<
- &3
-
-

-

L @

- o

- o

- o

€

L
;
&

| 1 1 | 1 | | | |
1 1 1 1 1 1 1 1
98765432 -

\4

8)

A

10

7)

>
>

€

- =

- o

- o

-

- o

- o

- =

o
- o
L
— <
- o
- o
- =
-
- o

- o

- o

- o

>

!
I
1

- o

- o

- o

- o

[—

- =

-

- ™

- —

— o

- o

- @

-

-

- o

-

- o

- o

10)3 > =z

AN

9)

O
\|||i|||)

N T T R N T N I
;
2

L
LI
98

€

!
I
1

]
L
;
&

12) 10 > =z

11)2 < z

O

€

?

L
;
4

N T T R N T N I
;
2

4

Iy oy |
I
7

L
LI
5 B

| 1 1 | 1 | | | |
T 1T T 1T T 1T
98765 4-3-2-

14)5 < z

13) —-10 < =

>

- =

- o

- o

- o

- .o

- o

- =+

—
- &
L
—o
- o
- o
- =
- w

L 9

-

- o

- o

>
>

L
; \
4 1

I T I I |
T T T T T°71
B 765432 -

!
!
R

L
|
!
1

16)9 > x

15) -4 < =z

>

O

Iy oy |
I
7

N T T R N T N I
;
2

| |
T
T

€

?
>

L
; \
4 1

[
!
2 .

L
I
-3

®
L
!
23

| T |
T T T
98765 -




